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3DSHU��0$����)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�
6 L = 5a + 3 M1 for expression a ± 1 + a + a + a + a + 4 RU�L= an expression in a 

for 5a + 3 RU�L = a + a + a ± 1 + a + a + 4 oe 

for L = 5a + 3 

M1 

A1 

3DSHU���0$���)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�
3 (a) 15fg B1 cao 

 (b) t² B1 cao  

 (c) 4n B1 cao 

Paper: 1MA1/3F 
Question Working Answer Mark Notes 

2 2y B1 yf  or 2
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Paper 1MA1: 2F 
Question Working Answer Mark Notes 

11 (a) 3p B1

 (b) 2m3

 cao

1 caB1B

 (c) 10 – 4c + 6d M1 

A1 

for  –4c or 6d (accept +–4c) 

for 10 – 4c + 6d 

Paper 1MA1: 2F 
Question Working Answer Mark Notes 

14 (a) 5(1 – 2m) B1 cao

 (b) 2ab(a + 3b) M1

A1 

 2a(for ab + 3b2)  or  2b(a2 + 3ab)  or  ab(2a + 6b)   
or  2ab( 2 term expression with terms in a or b or ab, can include constants), 
eg 2ab(1a + 3ab), 2ab(1 + 3b) 

2for ab(a + 3b) 

Paper: 1MA1/3F 
Question Working Answer Mark Notes 

2 M112p + 18b 
A1

 12p or 18b or p + b 
 12p + 18b 
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
�� �D�� �m� %�� FDR�

� �E�� np� � %�� FDR�

Paper: 1MA1/1F 
Question Answer Mark Mark scheme Additional guidance 

66 (a 12t B1 12 t  

 (b) 7a B1 7 a 

Accept t12 but not 12 × t or t × 12 

Accept  a7 or 7 × a or a × 7 
Partial simplification of 5a + 2a or 8a – a 
does NOT get the mark 

20 9p + 13 M1 for method to expand one bracket,  
eg 5 × p + 5 × 3 (= 5p + 15)  
or  2 × 1 – 2 × 2p (= 2 – 4p) or – 2 × 1 – 2 × í2p (= í2 + 4p) 

If an attempt is made to multiply by í2 in the 
second brackets then it must be done consistently. 

A1 cao 

Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

4�

4�

4�



www.yesterdaysmathsexam.com 

PaSeU: 1MA1/1F 
QXeVWiRQ AQVZeU MaUN MaUN VchePe AddiWiRQaO gXidaQce 

13 B1 caR (a) 10ab

(b) 8[ + \ M1 IRU 8[ RU \ AcceSW 1\ IRU 1 RU 2 PaUNV 

A1 IRU 8[ + \ 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
��� �D�� ��m�í���� %��

� �E�� n �� ����� %��

IRU���m�±����RH�

IRU���n �����RH�

$FFHSW�DQ\�UHYHUVLQJ�RI�RUGHU�LQ�WKH�H[SUHVVLRQ�

$FFHSW�DQ\�DQVZHU�LQ�UHYHUVH�RUGHU�

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
�� �y� %�� IRU��y RH� $FFHSW���î�y RH�

$FFHSW�D�IRUPXOD��HJ��P  ��y�EXW�QRW�y� ��y 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
�� �D�� �ab� %�� IRU��ab

� �E�� y�� %��

� �F�� ݁
݂

0��

FDR�

IRU�D�FRUUHFW�ILUVW�VWHS���
HJ��QXPHUDWRU�RI��݁ଷî�f��RU�GHQRPLQDWRU�RI�݁ଶ ൈ ݂ଶ���
25  e ÷ f  RU� e × f ࡳ����
25�UHOHYDQW�FURVVLQJV�RXW�IRU�DOO�WKH�e’V�DQG�DOO�WKH�f’V�

$�� IRU�௘
௙
�RU�ef ࡳ����

4��

4��

4��

4��



www.yesterdaysmathsexam.com 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
�� ��e ���f� 0��

$��

IRU�HLWKHU���e�RU��f��

IRU���e ���f��

Paper: 1MA1/1F 
Question Answer Mark Mark scheme Additional guidance 

1919 (a x2 – 4x B1 cao

 (b) 5(3y – 2) B1 

(c) 9 M1 

cao 

for a correct first stage, eg. expanding brackets, 7 × f – 7 × 5 (= 28) oe 
or for division of both sides by 7, eg. ଻ሺ௙ିହሻ

଻ ଻
ൌ ଶ଼ 

A1 cao 

Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

3 6e B1 

4��

4��

4��



www.yesterdaysmathsexam.com 

Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

14 (a) 5x + y M1 

A1 

(b) 3 M1 

for method to collect terms, eg 5x or y 

cao 

for subtracting 7 from both sides or dividing each term by 5 as a first step, eg 5p 

= 15 or 5p  ����௅���RU�
5 7 22
5 5 5
p
�  

May be seen in working. Accept if no 
ambiguity. 
Accept 1y. 

Must be carried out, not just intention. 
Division by 5 must be all terms. 

A1 cao 

Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

4 (a) 4m B1 cao 

 (b) 3p 1 caB1B
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Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

6 (a) 4ab B1

 (b) 3x + 8 M1 May be seen in working.  Accept if no ambiguity. 

A1

for method to collect terms eg 3x or 8 

 for 3x + 8 

Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

17 (a) y2 + 5y B1
 (b) 2(2a 3  ࡳ)  B1 

(c) 2.9 M1 

 cao
cao 
for a correct first stage  
eg. expanding the brackets, 2 × 5x – 2 × 4 (= 10x – 8) 

or division of both sides by 2, eg 
2(5x � 4)

 
21
22

M1 

A1 

for isolating terms in x eg 10x = 21 + 8 

oe 

 (d) 20 e3 f 4 M1 for any two of 4 × 5 (=20), e2+1 (=e3), f 1+3 (=f 4) in a product or written 
as individual terms 

Do not award if there is contradiction 

A1 cao 
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Paper: 1MA1/1F 
Question Answer Mark Mark scheme Additional guidance 

5 15tw B1 for 15tw May be seen in different order 

Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

14 (a) 7c + 6d M1 for 7c or 6d  

A1 

(b) 7 M1 

M1 

A1 

(c) 3x + 2y M1 Condone use of b and p 

A1 

 for 7c + 6d 

for correct method to expand, eg 5 × 2m – 5 × 6, 
or divides both sides by 5 as a first step. 

for correct method to isolate terms in m, eg 10m – 30 + 30 = 40 + 30 

cao  

for 3x or 2y 

cao 

Paper: 1MA1/1F 
Question Answer Mark Mark scheme Additional guidance 

2 4e B1 for 4e oe e4 gets no marks, where the 4 is clearly a 
power 

Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

4 6m B1 for 6m 
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Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

17 (a) 12 – 6x B1 

(b) 16 M1 12
4 3
y
=

Do not accept ambiguous algebraic 
expressions 

A1 

(c) 2(2p + 3) B1 

for 12 – 6x (accept – 6x +12) 

for a correct first step, eg. 3y  = 12 × 4 (= 48) or 

cao 

cao Do not accept equivalent 
expressions not fully factorised 

4��

Paper: 1MA1/2F 
Question Working Answer Mark Notes 

24 (a) ±6 M1 

A1 

 (b) 6x2 – 4x + 3x í 2 6x² í x í 2 M1 

A1 

 (c) (x + 3)² B1 

for one value (6 or í6) or ¥36 or an embedded answer eg 2 × 62 = 72 

±6 

for at least 3 terms correct out of a maximum of 4 from expansion, or 4 terms correct 
ignoring signs. 
cao 

for (x + 3)² or (x + 3)(x + 3) 

Paper: 1MA1/3F 
Question Working Answer Mark Notes 

17 (a) B1 

 (b) 

4(m + 3) 

term, expression B1 
B1 

for 4(m + 3) or 2(2m + 6) 

for ‘term’ in the 1st space 
for ‘expression’ in the 2nd space 
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Paper: 1MA1/1F 
Question Working Answer Mark Notes 
24 x2 + 6x = 1 M1 

M1 

A1 

writes the area using algebraic terms e.g. (x + 3) × (x + 3) or at least two correct area expressions, 
may be written on the diagram or x given as ξͳͲ í 3 
expands and includes the given 10 e.g. x2 + 3x + 3x + 9 = 10; condone one error in the four terms 
when expanding or 10 í 3ξͳͲ í 3ξͳͲ + 9 + 6ξͳͲ – 18 (=1) condone 1 error in the 6 terms 
rearranges to give the given equation or shows surd expression simplifies to 1 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
��� �D�� ��x��í���x í��� 0�� IRU���RXW�RI�QR�PRUH�WKDQ���WHUPV�FRUUHFW�ZLWK�FRUUHFW�VLJQV�RU���FRUUHFW�

WHUPV�LJQRULQJ�VLJQV�
��x��í���x ���x ±���
1%����x��í���x  DQG�����x�����DUH�LQGLFDWLYH�RI�
��FRUUHFW�WHUPV�

$�� FDR�

� �E�� x � �����x ����� 0�� IRU��x �����x �����RU�IRU��x���a��x���b��ZKHUH�HLWKHU�ab� ���RU�a���b� ��

$�� FDR�
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Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

18 (a) T = 4n ± 5 M1 Allow variables other than n 

M1 

Each age must be an expression in n 

A1 

(b) 5m ± 3m = 2m B1 

for 2n or n ± 5 or T = a linear expression in n 

for n + 2n + n ± 5 oe 
OR   
for T = an expression in n with 2 of 3 ages correct 
eg T = n + n2 + n ± 5 

for T = 4n ± 5 oe eg T = n + 2n + n ± 5 

for 5m ± 3m = 2m indicated 

Paper: 1MA1/3F 
Question Answer Mark Mark scheme Additional guidance 

22 (a) x2 – 4x – 45 M1 3 terms correct can be implied, eg x2 – 4x + c 

A1 

(b) 3x(3x + 2) B2 

(B1 

for 3 of 4 terms correct or 4 terms correct ignoring signs 

cao 

for 3x(3x + 2) 

for 3(3x2 + 2x)  or  x(9x + 6) or 3x(ax + b) where a and b are integers 
or (3x + 2) as a factor) 
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Paper: 1MA1/2F 
Question Answer Mark Mark scheme Additional guidance 

21 (a) x15 B1 

(b) 40 ± 10x M1 

A1 

(c) 3x2 (5x + y) M1 
Where a  � 1 and b ≥ 1 

A1 

cao 

for method to expand one bracket or collect like terms, 
eg 4 × x + 4 × 3 (= 4x + 12) 
or 7 î 4 í 7 î 2x (= 28 ± 14x)  
or 4 × xí 7 î 2x (= 4x± 14x) and 4 × 3 + 7 × 4 (= 12 + 28) 

oe 

for 3(5x3 + x2y) or x(15x2 + 3xy) or 3x(5x2 + xy) or x2(15x + 3y) 
or 3x2(ax + by) 

cao 

4��


